Time: 3 Hours

DPA 510

M.A. (Previous) Economics Examination,
August/September 2009

DIRECTORATE OF DISTANCE EDUCATION
Paper - I : Micro Economic Theory (Freshers)
" Max. Marks: 80

NOTE: (1) Answer any FIVE of the following questions.
s S9RRNYO cinsrncids we B3nen woZ0h.

(2) All questions carry equal marks.
Aoy BEnens 1SR wosnie:

Bringout the meaning, significance and scope of Economics. How economic policies
are relevant in the present day economy ?
sgrmAd sgr, B iy SYAD. GRFE Dedrich =0T el P ayddnmbad?

How do you define Demand ? Distinguish between Demand and Quantity Demanded
using relevant schedule and figures.

end sowenay Bt mMILA0 7 KowedS I E desprsdie Xaohbon weld THEy
Hendiaod #0sRm scwErd Fthad Hbgdoba SVAD.

What do you mean by value judgements ? How value judgements are in_mponant in
Economics?
e, peercoriv o $9DHAD? sErmAng SR, ararctotnis Serl SndFaxegd?

Examine the contributions of Hicks - Allen to the demand Theory using indifference
curve technigue. .
Bmhfa‘admiﬁ# TEoohion Lot - soTrdad tdebd i'ﬁ;t:@:::!tidl neho Emd:ﬁﬁ#ﬁ;aﬂﬂhtﬂkﬁ.

Define Production Function. Explain the Laws of Returns to Scale using suitable
figures.
somBT ol WIMPAL. FaFo aobsbaisy 1ot Seantidny Zmebion HE0A.

Bring out the meaning of costs in Economeis. How do we derive different cost curves?
SgFZRHO Surieh aoworo BEFR, 394D, 205 wiick St Seadrieh Berd daFledyZHon:
agnD,
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What is Perfect Competition ? How price and output are determined in the short and
long run in this market ? Explain with suitable diagrams.

Hozarer en ondeh? Ko Seanudny xamahood SRl ahd smER mne
DegnrRbned g o Bt Senieh St SPFORyEEHon HT0AD.

Bring out the characteristic featuers of Menopolistic competition, What role the selling
cost and product differentiation play in this market ?

RS Fgetiod b3 rbrod v H0AD. Hmoo Jed Soa Sxmed Sot szt
& Sncked obd cind mEbhdstorh 2080,

Explain the Non-collusive oligopoly Models of Bertrand, Chamberlin and Paul Sweezy.
WORRYT, HeoLTtdR® Shdh FRor 4e0neahSs Laor - B3 & - & R SRTONYEy
Do,

Examine the Walrasian General Equilibrium Model.
RUWEUSO mEFsE thdneed SRDbuhE) HS0A.

LR ]
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M.A. (Previous) Economics Examination,
August/September 2009
DIRECTORATE OF DISTANCE EDUCATION
Paper - Il : Development Economics (Freshers)

Time: 3 Hours Max. Marks: 80

NOTE: (1) Answer any FIVE of the following questions.

Baus: BYARRNCY cRsmnce wr ZENeR wio.
(2) All questions carry equal marks.
2o Z3nons tEnd wodne
Evaluate the neo-classical growth models of Solow and Meade. 16

7= Zogmeod Sogd Aeedee Tne QueETON0 Lre BYadn Angossay SR Hon.

Distinguish between embodied and disembodied technical progress. Bring out the
contributions of Hicks to the theory of economic growth and technical progress. 16
$o3riFd 3 voInrINed osE Jrisoh FI|E 300, weRdd AmRod wrle :osd
Briach wri LEUE0 Satbrinea 392D,

Give a brief account of Fiscal sector reforms advocated in India since 1991. Bring
out its impact on India's fiscal sector in recent years. 16
LROSEE) 1991008 tRORRPATHS aedeodh REURNYR) SHOL. ROIDE Sredeod FFtoh
soed wRnvd FraEey HH0N.

Bring out the emerging issues in export - import policy of India since W.T.O. 16
TRUSE OF) - L Re3chd 2%, mEnd ZoXed mBTol JoId wgaahs aag
RobrEnvsy HTTHaN.

Discuss the nature of Industrial sickness in India. Advocate suitable measures for its
revival at present. 16
Rodnd §eom w5 gd RdasiEs HT0A0. ud te308n Kad dabnvay Aenia.

Examine the impact of FDI flow on India’s economic growth. What measures do you
suggest to control the foreign capital inflows?

U3n SHFE BdSdnd shed Hded Jed Sohad FnaaE; F0bedA. HTied Lodmvd
SO dabodten cindd gbriv de) ZeuKnd.

Discuss the various threats to attain food security in India in recent years. How far
the National food security mission of India is able to overcome the food security
problem? 16

RUE FEFNYY O30 vEes tio A sdus Zod dnd sosnws)? 303 Rudd tayed
YImU mFuoLm I wRd Dby v P It XEnRuRNOD aoteEy 398D,

1
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Discuss the production function approach to economic growth. Bring out the limitations
in developing countries. 16

whre wegednn vomdm umos nd Aetob Ampodad HuDA. YTh Beothiths
BeBridQ 0 BDANYEY, YD,

Discuss the performance and problems of public sector enterprises in India in recent
years. 16
oEn marsad dedd vdsind =acud mgdnd mrie ties SEFMvd dod wod
REDArida) DTON.

Write short notes on any TWO:
wRFmods 2URd, tiged wdaob.

a) Green Revolution 08
B0 W03

b) Dual Gap 08
god, wosd

c) Social Dualism 08
TR T o3

d) Human Development Index (HDI) 08
s ePR Rets

o W
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M.A. (Previous) Economics Examination, August/September 2009
" DIRECTORATE OF CORRESPONDENCE COURSE
Paper - 111 : Quantitative Methods for Economists

(Freshers)

Time: 3 Hours ' Max. Marks: 80
NOTE: (1) Answer any FIVE of the following choosing not less than TWO from

each part.
Aot EeNRRNYS cngymeacs nd Z3non I3 anrtod 2 B3y totscm

toBDA,

(2) All gquestions carry equal marks.
o3 AR INRE Sosrie.

PART - Aoten -2
1. 1fD=2300-10PandS =400 - 20P are the demand and supply functions respectively.
Obtain the equilibrium price and quantity when a specific tax of Rs. 3/- per unit is
levied on supplier. Find the new equilibrium values.
wetd wowssy D =300 - 10P sha petd wowdsy S = 400 - 20P s sshdeeos Ud
T3y FEneorivay sob LoD, Redod Shed I3 Piid, 3 daznob 30 LRARA LOTVrLE
Tbdpeos dd BB FRRes; dorlB00.

2. If the demand law is D = 200 — p — p? and supply law is S = p* + 3p — 28 find the
equilibrium price and quantity.
e wotdsy D = 200 — p — p? whay Reed wowes) S = p? + 3p — 28 ~mpri AShdecod
g =¥ Hanredal sombi B0,
3. Pareto's law of distribution of income for an economy is given by
M= E‘ x 108 -
KEIE
Find how many have income in between Rs. 1600 and Rs. 3,6007
mdedoe vmoh $308 Baseddnaal dvnded dedomhd.
M= 8x10°
K&E
1600 =283 3600 dasmmds gmabd Aol mohado ﬁaaﬂﬁa&}ﬁ;‘ godatalachab,
4. If the total cost function of a certain firm is C = 3g® + 7q + 12, Find the average and
marginal cost functions.
toch g Sum) C = 3g° + 7q + 12 uhmpn Zox0 B3 Arsined g wodnds
godakol,

5. Solve the set of simultansous equations by using Cramer's rule.
3UNT Booeddrasi 8 ehof Rebabaizh YA RAtAD.
2X, + X, + Xy =4
H+E+%=ﬁ
3x, + 4%, +2x, =3
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PART - B ot - 20

What is central tendency ? Calculate mean, median and mode for the following data.
geol)eod Sinaandosdesh ? ddna e, ZouxDd, s did uEIWENYE) sodikRohh.

DPA 530

.

Class interval 0-10 10-20 20-30 30-40 40-50
Seroad
Frequency 5 10 20 B 2
-
What do you understand by dispersion ? Calculate standard deviation for the following
data.
QUOF Socidesd ? $9rt BoLiTE TRE, T CEETE ReOhER* O8, B8,
Class interval 0-30 30-60 60-90 90-120 | 120-150
Eafarialer 1]
Frequency 10 - 15 20 5 3
L]

Calculate co-efficient of correlation for the following data.
BYNE MAY, ZEToL0T rimeolTE; Jd, k.

X 10 ] ] T 6 4 3 2 1

Y 14 15 16 14 13 12 1 10 8
Fit a straight line trend for the following data.
BuAS XY, Lorh oé deddodaly dush.

Year

wEE 1997 | 1998 | 1999 | 2000 | 2001 2002 2003

Production

eroE s 50 BO 100 120 °| 140 150 120

Compute Fisher's Ideal Index number for the following data.
g9hT T S0 LaBr et ol OF b

Commodity ‘Base Year Current Year

P al. s sd S T3 Sar
Price Quantity Price Quantity
e Bwe e Zane

A 10 4 12 5

B 12 6 13 8

c 10 2 9 10

D 8 v 10 6




DPA 540

M.A. (Previous) Eoonamlhs Examination, August/September 2009

DIRECTORATE OF CORRESPONDENCE COURSE
Paper - IV : Agricultural Economics
(Freshers)

Time: 3 Hours Max. Marks: 80

NOTE: (1) Answer any FIVE of the following.
naud: CARZYNYS cdinmmde ob Z¥nen vogbe.

10.

{2) All questions carry equal marks.
o3 ZANONS BERE wodries.

Explain the importance of agriculture in a growing economy.
a0 Becthithd upredohd gaoh hEZE; SF0A.

Do you advocate commercial farming ? Explain the reasons.
ordt, §h SYSRRTHTE) LEaoe ? GOt mdnrivEy HE0A.

Discuss the factor - factor relationship in the theory of production function.
NOTYTT WOLF ATROITY wokE rosTTOTY SEOT BowogiHEy BuFA.

Discuss the nature of employment in agriculture in India.
LRO3T AoH EVEAE RORE 6o tF A,

Critically examine the role of co-operatives in providing credit to agriculture.
g Bromaa LEAREE Zend S87 Toind I sevctEmh HH0A.

What is capital formation in agriculture ? Explain the causes for low capital formation.
& oy dess sogderd ? o todsoy UESnPADS sdrorivay HT0A.

What is resource use efficiency 7 Explain the causes for low effiecency in agriculture.
Todisaund og v codded 7 aohd soch oy, LvEn monnvE; ST04.

Explain the merits of technical change in agriculture.
gachd) ‘22038 LOoHRNvoR’ urbd SodoeRrivay STON.

Critically examine the problems associated with major irrigation projects in India.
RUBEON LEE® Reovsd cleekany EANVE SSmr N a0edA.

Examine the development of social forestry in India.
mond mans edn oo Wi F0dedn.
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